EBRIERR R R EW

E TYPE REDUCER INSTALLATION ESSENTIALS

AT RO RIERVERIREAIMRE | FENRMESRTEEE. TRAA. ERUREHHTRERT.

in order to make fully use of RVC type reducer, it is need to make a best design of the assembly precision, installation method, lubrication and seal.

M ZEFECHSE Assembly Precision
B4R AR EE AR IR Za//\F0.03mm (280BXLA_EA1AY/NF0.05),

Coaxiality tolerance (a) of motor shaft and reducer is lower than 0.03mm (for
models above 280BX, lower than 0.05).

MZEHEEARR | F B BB RIS,

Because of the poor assembly accuracy, especially easy to cause vibration and
noise.

©® EC.1: B Figure C.1: Assembly precision

(250BXLA )
(Above 250BX)

i 3

W 2EBERESTH Assembly Method
- RIS ERER NIEE Bi8iHiE.

The assembly according to the specified dosage specified sealed grease.

- FRRREECER E AR ETRIRER , EC.2FT, EC.27hAY"0" R
N EFHITE,
Reducer assembly in the supporting parts of the standard icon, shown in figure
C.2, figure C.2 in the "0" ring position to be sealed.

* WNEEM EARTSERERS 0" BURE , iBfEFEERC 3RIRINEEEIRR.,
If the structure is not allowed to use the "0" - shaped ring, please use the table
C.3 liquid sealant.

 BHEERR0"BIEFERY , WEC.2, EC.3, EC.4, ’3KC.1, &C.2,
Assembly diagram and "0" - shaped ring seal size, see figure C.2, figure C.3,
figure C.4, and table C.1, table C.2.

E150BX. 190BX. 220BX:

® EIC.3: %EeRM Figure C.3: Assembly example

3]

e

HMEIERL
Outer circle
positioning

Output shaft
===
[ |
=
==

"O"FE"IL" "0ring"II"

©® EIC.2: &EL2$d Figure C.2: Assembly seal

TRE HRERRI A (FC.3)
Liquid sealant must be used on the
mounting surface (table C.3)

{ ' AREBHL
Servo —1—
it BX { = motor
Output shaft
\==§} I 1 7 -
| 1 =
===

yin%—ﬂ

-l
ORI "0"ring" "

W250BX. 280BX. 320BX:

® EIC.4: %R Figure C.4: Assembly example

K
H

w/ﬁ:

[ p—

8{"0 R 1"
"0"ring" I " q

==
Outer circle — ]
positioning

fRIARFEA
— 1 Servo
motor

PR

Central location

= "0"fZE"O" "0'ring"II"

® £C.1: “O” BB (Il ) : Table C.1:"0" - shaped ring (Il)

H1E Model 1&EF3"0"E4[E Apply The "0" Shape Ring
150BX S120
190BX AS568-258
220BX AS568-263
240BX G190 (B2401)
280BX G220 (B2401)
320BX G270 (B2401)

<« EC.3 E: POEMFNEEEE—.

Figure C.3 note: Center positioning or outer circle positioning.

B P BN\ U ES S R e

b
<
s}
=<
o
—
<}
S}
>
—
3
z
=
ac
m
m
—
Pl
m
g
c
e}
m
Py




=
ﬁ ® #£C.2: “O” 8E( | )BHRFFE(mm): Table C.2: "0" - shaped ring (1) sealing size table (mm)
E;% S Codo HIZ Model 15(%3)( 1?3')3)( 190BX 220BX 240BX 280BX 320BX
< K2 Code AS568-045 $100 132 AS568-163 AS568-167 AS568-265 AS568-271
P‘EE Py %ﬁ; £54% Wire diameter | ®1.78=0.07 ®2+0.1 ©2+0.1 ©262007 | $2.62+0.07 ©3.53+0.1 ©3.53+0.1
= % |° "™ 42 Intemal diameter | 101.32+038 | ©995+04 ©1315+06 | ®15207=0.58 | ®177.47+058 | D196.44+0.76 | D234.54=0.76
2= £ | g [JMED Outside diameter D 105 105 135 160 182 ©204 ©243
3 | Ry SREEH Depth H 1.27+0.05 1531 1531 2.06:£0.05 2.06:£0.05 2.82£0.05 2.82£0.05
& |Groove BEEG Width G 2.397%% 2.70%% 2,707 3.58"0% 3.58"0% 4.78°6% 4.78"5%
size K Height K 3 3 3 3 3 4 4

iE: B3k “0" FZBIA , BIE%— . Note: On the table of "0" - ring, from A, B option one.

® #*C.3: RIS ZIIES Table C.3: Recommended liquid sealant

Y
<
Q
<
o
-
o
=]
>
=
=
=z
=
S
m
m
—
Py
m
o
c
(@]
m
Py

BIR (HER ) HER AR Wit BRNEFAREERBFIRNFILTEARAAR
Name (Manufacturer) Properties And Uses Note: Bolt and pin and assembly please ask the
Three Bond 1211 W FEEITARIE Silicone based non solvent type | :
(Three Bond) W 2 FEZSIE Half dry filling company's technical staff
HERME SERL SS-60F B FAFEMEREET Solvent free elastic seal
(Nihon-Hermetric) B £EEEIER Metal contact surface

W 124TRYZEHEE Fastening Torque Of The Screw

ERURIERES | R/ AIRET (GB/T70.1 12,95k ) | THIRERCARERERHITRE. WHMIEsTREHPAE (PR ) | iSRS (GB/T 118-2000) . ATHI
LEPRI7SAIERINE]) , BINEFRIRAZ R EE 2 E,

E type gear reducer, using allen screw (GB/T 70.1 12.9 level), Pls. fasten follow the table C.4 fastening torque. The output shaft screw and pin (P type), Pls. use the the taper pin
(GB/T 118-2000). To keep the allen screw from moving ,recommend use the disc spring washers.

® %=C.4: 125TEEE4E Table C.4: Fastening torque of the screw

R7<FHEE4T Allen Screw ‘B2 [E4E5E(Nm) Fastening Torque (Nm) B2ETESEY Screw Parameters
M5X0.8 9+0.5 1-GB/T70.1
M8X1.0 1608 2-12.94% 12.9 level
M8X1.25 3718 3- & 2B4ME Blackening
M10X15 73+35 A
M12X1.75 129465 4- [EFESL cvllndef head
M14X2.0 205=10 5- BREUBE: 603024
M16X2.0 318+16 Thread precision: 6g or 2 class

58 N 552 Input Gear

« iVERMA SR BRI TR LA LN TR 5.,
Standard input gear is without any machine mouting hole of the motor.
o RETRBIGNEC.S: (H=F)

Install sample as shown in picutre C.5: (Three way)



@ EC.5: ISR Figure C.5: Input gear assembly
( B AIIRZIASH4RFL Direct-axis: Servo motor shaft without thread ) ( B4 RIIR DA HEF, Direct-axis: Servo motor shaft with thread )

1EaNIEET

/" Stop screw

B P BN\ U ES S R e

|

P |
i E& Bolt l

A

( e {RIBRDIA4HASRME Cone axis:Servo motor shaft with bolt )

b
<
s}
=<
o
—
<}
S}
>
—
3
z
=
ac
m
m
—
Pl
m
g
c
e}
m
Py

g8 :::::j;;:fi =T ]
R/ =_| |
= R
IR Nut Draw bolt
® *C.5: S HAB! Table C.5: A type of input gear shaft

RXE Size Code A B © D d dd E L NOTE
150BX-E 25 46 95 235 11,14 55 215
190BX-E 29 53 100 295 14,19 6.5 295
220BX-E 29 - 100 36.0 19,22 7.0 -
250BX-E 34 70 120 40.0 19,22,24 9.0 38.0
280BX-E 35 - 120 42.0 22,24,28 7.0 -
320BX-E 35 = 140 46.0 24,28 11 -
370BX-E 38 - 155 56.0 28,35 1 -

® =C.6: MAEHIBE Table C.6 : B type of input gear shaft

RS Size Code A B BB © D E F d dd
150BX-E 25 50 66 100 30 235 215 11,14 55
190BX-E 29 33 76 115 36 29.5 26.5 14,19 6.5
220BX-E 29 80 - 130 42 36.0 - 19,22,24 7.0
280BX-E 35 105 = 170 50 42.0 = 24,2835 9.0
320BX-E 35 122 - 185 50 46.0 - 24,28,35 1
370BX-E 38 139 = 215 58 56.0 = 35 11

(HINESECHASY A type of input gear shaft)

Pdd
|
|

PE

d

[o]]

©® BWASLEFIPRSS Input gear customized service

FAEARGURFTIEEEAN R HTIMA RIROES. MITARSS.

Our company can provide input gear customized service according to motor.

DE

(I NESE05HBEY B type of input gear shaft)

w
=

Ddd

L

Pd
oD

BB




MR ENAYS RN

Y
<
Q
<
o
-
o
=]
>
=
=
=z
=
S
m
m
—
Py
m
o
c
(@]
m
Py

150BX, 190BXRUITEWRE -1 , REHANRIBRBITEMAL
REREEA , (LEER , MANERREREAN , FaatiEN , BRI
FHEN. (ECH)

150BX, 190BX have 2 planetary gears. Please pay attention to put gear directly,
correctly, and lightly when mounting gear. Do not use force, do not be incline when
mounting. (Figure C.6)

® EIC.6: &AL E Figure C.6: Assembly position

SEIRMERC IERRRYED
Incorrect assembly Proper assembly

©® EC.8: FueRiERERMABIELLZE R

Figure C.8: To be unable to hole-through ratio of gearbox intall shown

I

BT EFVJD i

Input sun gear

FLAHEE
A hole with a ring

B

Retaining ring

WAL
Input spline shaft
TS
Deep groove ball
bearing —

- BERIEIRIERER P ERANER AN BE BRI .
To be able to hole-through ratio of gearbox and cann't hole-through ratio.
T RERBAYELLINZRCT. , ZEERFITELC.S,
To be unable to hole-through ratio as table C7, install sample as shown in picutre
c.s.

® F£C.7: REERBRIEEL Tabe C.7: Speed ratio can not be through

150BX 190BX 220BX
st
From output shaft 51 57 5
==
gl\f‘“m‘lf' 56 56 56
Housing output

T R2EREL IRERIBRYIELL. BERIERIERE M ERRIEL AR IEIC. 7:
Note: Table 2 is shown hole-through ratio. To be able to hole-through ratio of gearbox
is C.7:

©® BEC.7: e BB RIERABAELLRERE

Figure C.7: To be able to hole-through ratio of gearbox intall shown




I i;8 Lubrication

« FLIHSE/EFRFEIMAS: Molywhite RE-00ERVIGO-Grease REOE 1R MRS SN IR SRS FRITIEHE.
Reducer using lubricating oil: Molywhite RE-00 or VIGO-Grease REQ other similar grade precision reducer special grease.
« EER T BSRIESIEEHRE | ERERIEFENATEE S | FIERLRIERE AR AFRA90%.

When the gear reducer is not filled with grease, it is recommended to fill the grease at the time of installation, and the filling amount is about 90%. of the internal cavity volume

of the reducer.

* RSt E R AR /920000/\EY . SEIERISHISAREAERSHIME MERT , BEEEEHESN. RSROER . FEEIREL.

Lubricating grease standard replacement time is 20000 hours. When the grease is contaminated or is used in harsh environment, it is necessary to check the condition of aging

and pollution, and changed within the allotted time.

« RS R AR AR EAERC.8:

Reducer lubrication grease recommended dosage as shown in table C.8:

< BT IERIEEC.Y , EC.10:

Grease filling position as shown in figure C.9, figure C.10:

© C.8: jiliFimAgiE N\ E Table C.8: Lubricating oil injection

15788 Filling Amount 7KSEZ23%E Horizontal Installation HEE LA Vertical Installation
1S Model (cc) (cc)
150BX-RVE 87 100
190BX-RVE 195 224
220BX-RVE 383 439
240BX-RVE 432 495
280BX-RVE 630 694
320BX-RVE 1040 1193

® EC.9: i@iBimiENGIE (7K F) Figure C.9: Lubricating oil injection position (horizontal)

(ZZE7K 244 Install horizontal axis)

EEHREAIE

Grease position

,,,,,,,,,,,, 3’

et} ig
Output shaft rotation

3/4D

L
Ol hole

® EC.10: iilBlE NG E (FEE) Figure C.10: Lubricating oil injection position (vertical)

(LEEFEEM-1 Install vertical axis-1)

FEFL et )i
0il hole Output shaft rotation
DEhi = VA= LL [I;
Grease position
[ 1 i
[ L J :
[ ] J 1i L
" | |

pa::Eil
0il hole

fRIARFEA
Servo motor
!

pEa::Ei
0il hole

. fREREEATL

Servo motor

(LEEFEEM-2 Install vertical axis-2)

i
SEHEL RBREBAL

Oil hole Servo motor

b3z i ={hva=y

Grease position

it ‘ S
Output shaft rotation 0il hole

B P BN\ U ES S R e

b
<
s}
=<
o
@)
<}
S}
>
p=
3
z
=
ac
m
m
m
Pl
m
g
c
e}
m
Py




